HCF and LCM |

ki é\REVISE THIS
I T

1 Find the highest common factor (HCF) of 12 and 20 @

U

(Total for Question 1 is 2 marks)

2 Find the lowest common multiple (LCM) of 6 and 8 @

6 17 13 (D
8 16

1%

(Total for Question 2 is 2 marks)

3 Find the highest common factor (HCF) of 15 and 18 @
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| (3
1l 9q
() 6
3

(Total for Question 3 is 2 marks)
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4 Find the lowest common multiple (LCM) of 9 and 12 @

! @

I’L 14
36

(Total for Question 4 is 2 marks)

5 Find the highest common factor (HCF) of 28 and 35 @

[ 2% | 1S

q..

(Total for Question 5 is 2 marks)

6 Find the lowest common multiple (LCM) of 15 and 20 @

1S 20 &S
10 4o @

60

(Total for Question 6 is 2 marks)

7 Find the highest common factor (HCF) of 16 and 40 @

| b I 4o  S®
(A 1 20
4

¢ & 10

%

(Total for Question 7 is 2 marks)
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8 Find the highest common factor (HCF) of 12, 18 and 21 @

e ® (@o 2

(Total for Question 8 is 2 marks)

9 Find the lowest common multiple (LCM) of 10, 30 and 40 @

10 20 3d &0 SO 60 6 €0 40 (o0 11D 120
30 €0 90 120
YO 80 20

1.0

(Total for Question 9 is 2 marks)

10 Find the highest common factor (HCF) of 15, 30 and 45 @

( 130 56 | 4s

5 2@ 1

3 (o S 9
1S

(Total for Question 10 is 2 marks)

11 Find the lowest common multiple (LCM) of 5, 6 and 9 @

S oI5 10 2€ 1015 ¥ uS S0 S5 €0 6S ISP
6 1% 1 o 3642 “2SH 6066328 D
T 18 23 36 %S s¢ 63 31 %0

ﬁ (Total for Question 11 is 2 marks)
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12 There are 120 students in Year 11 and 72 students in Year 10.

All of the students are split into groups for revision.
Year 11 students must not be in the same group as Year 10 students.
All of the group sizes must be the same.

Work out the maximum possible group size and how many groups there will be.

| 1?0 © 20 | 32 R 1
1 60 2 IS 2 206

1w 012 3@ 10-mss
¢ 30 6 18 F2-=3

S @ 6 S+2 =%
24

Number of Groups g
(Total for Question 12 is 4 marks)

Maximum Group Size

13 The 90A bus and the 95B bus both stop at the bus station at 12:00pm.

90A returns to the station every 18 minutes
95B returns to the station every 8 minutes.

Work out the next time when both buses return to the station at the same time.

8 16 sS4 (FL)

g (6 14 3L Yo 48 64 56 (3D
:Z'ZW\I'V\S: \»\f 12 Mins
12:00 + lh 12 mins

1\ ] pw o

(Total for Question 13 is 3 marlzs)
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14 Sophie checks her bike for repairs every 8 days
Susan check her bike for repairs every 6 days.

They both check their bikes on the 15t of May.
Work out the next date on which both Sophie and Susan check their bikes for repairs.

l

6
w13 (W

(ST Muj 4+ ’.U-l» &ans

1%+ of May

(Total for Question 14 is 3 marks)
15 Jason, Billy and Kim are running laps of an athletics track. @

Jason runs each lap in 4 minutes.
Billy runs each lap in 6 minutes.
Kim runs each lap in 4 and a half minutes.

All three runners start running laps from the same point at 1:40 pm.

Work out the next time when all three runners will complete a lap together.

L 3 12 16 10 2 2% 12 3
6 11 18 W 10 6
LS A 135 18 225 23 315 36

\"L\'OQM + 306 ming
L:\o pw

(Total for Question 15 is 3 marks) !
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16 Find the highest common factor (HCF) of 63 and 135

6= 3IxIx?F
(3§ = ¥IxIx 3y xS

(3 1315

Wx1=9
q

(Total for Question 16 is 2 marks)
17 Find the lowest common multiple (LCM) of 63 and 135

6 \1S

Ix A L 2AINS

143

(Total for Question 17 is 2 marks)
18 Find the highest common factor (HCF) of 84 and 140

8= AxdxIxF
b0 = AXAXSXTF

g wo

L X LxF

%

(Total for Question 18 is 2 marks)
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19 Find the lowest common multiple (LCM) of 84 and 140

g mo 3Ix 1w Lx+xS

420

(Total for Question 19 is 2 marks)

20 Find the highest common factor (HCF) of 150 and 550

ISO = A x3IxSXS
8§50 AL x 5xSx |
\S° SSo AXS xS

50

(Total for Question 20 is 2 marks)

21 Find the lowest common multiple (LCM) of 150 and 550

\S0 SSo  AxLx5%¥Sxll

1650

(Total for Question 21 is 2 marks)
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22 Find the highest common factor (HCF) of 66 and 154

66 = 1x2x\I
IS4= 2 xFx I

66 IS‘P ZX‘l

L1

(Total for Question 22 is 2 marks)

23 Find the lowest common multiple (LCM) of 66 and 154

b sy I x2IxllxF

462

(Total for Question 23 is 2 marks)

24 Find the highest common factor (HCF) of 78 and 390

39 = 1x34
390 = 2 xS x 319
33 %0
2x31

13

(Total for Question 24 is 2 marks)
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25 Find the lowest common multiple (LCM) of 78 and 390

1% 190 2x39 x9O

3490

(Total for Question 25 is 2 marks)

26 Find the highest common factor (HCF) of 102 and 136

|02=2x 3x \?
136 = 2x1x L% \*
b 3b Lx 13

Y%

(Total for Question 26 is 2 marks)

27 Find the lowest common multiple (LCM) of 102 and 136

¥ 3b TIxlx|FXLxXL

LoR

(Total for Question 27 is 2 marks)
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28 A=23x3x5
B=2x3?

(a) Find the highest common factor (HCF) of A and B.
Give your answer as an integer.

A=1Lx1lx L x2x S
B=2%xAx

A 5 2%

(b) Find the lowest common multiple (LCM) of A and B.
Give your answer as an integer.

A B 2x2LxSx2x¥xy

360

(Total for Question 28 is 4 marks)
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29 C=2x3x52x7
D=22x5x13

(a) Find the highest common factor (HCF) of C and D.
Give your answer as an integer.

C=1x3x SxSx?+
D=12x2LXsSs x 13

C > 1LxS
\O

(b) Find the lowest common multiple (LCM) of C and D.
Give your answer as an integer.

C P Ay Sxx LXExLx\}

23 Voo
(2)

(Total for Question 29 is 4 marks)
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30 E=210x 3¢
F=20x3 x5

(a) Find the highest common factor (HCF) of E and F.
Give your answer in index form.

E t

Z(°x3

(b) Find the lowest common multiple (LCM) of E and F.
Give your answer in index form.

®)

2% Ve 1’x2x S

2° x 3 xS°

(Total for Question 30 is 4 marks)
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31 101 and 499 are prime numbers. @

Work out the highest common factor (HCF) of 808 and 49900

208= 1x2xL ol
4aq00= 2 x Lx SxS5x44q

gob w200

1x L

4

(Total for Question 31 is 2 marks)

32 Sarah thinks of two integers that are both less than 100. @

The highest common factor of Sarah’s integers is 18
The lowest common multiple of Sarah’s integers is 360

Work out the two integers that Sarah is thinking of.

[9= dx Bx7d
260= Lx3%IxLx2Ll x5S

1X2xLx 2%y — € 2 3x2xS
= 11 =940

................ 32 and 90

(Total for Question 32 is 3 marks)
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